ag.
oboodOd my 00 me O
Ux ODooobooboo

[TPASSOOODOO0OO

joholOOO OO

cr=r,—r; 000000 (1),(2)00

c 000000 (50000

20100 715
d?r, Gmimeo r{ —ro
m . = — .
! dt2 |I‘1 — I'QI2 ‘I‘l — I
d2I'2 Gm1m2 ro — I
mo - e .
2 dt? |I‘2 — I‘1|2 ‘1‘2 — Iy
d2I'1 Gmlmg
m =
U g2 r3
d21'2 Gm1m2
m = —
2 3
di(r Cr) = ~ G(mi+mo
azv ! r3

()D0000UO0bOODOUOOO

od

000 G=1 m+me=100000

000 r=(z,y) 00 |r|=+/22+y%¢C

(6)0 x,yOOO

Pz 1

are @2 + 42)° "



Tooooooo v

dv, dvy
000 (7),8)0 %=, <20

dvy

00 %= “» xyOOOOc

&y
at?

vV = (Vg, Uy)

dve _ &x
dt — de?
dvy _ &%y
dt — di2

dz dy
dt’ dt

—~



